COMPONENTS LIST

Drawing Issued
MARGARITELLI | P1-0106 08/01/2020
ROAD SAFETY | Review Date

02 15/07/2022

Ref.| n° Item Drawing Material
1 1 |Slider EPdP 01-10 101 Steel S355 JOWP
2 2 | Holding post EPdP 01-10 102 Steel S355 JOWP
3 1 |Wood beam EPdP 01-10 103 Laminated wood GL24H
4 1 |Backstop EPdP 01-10 104 Steel S355 JOWP
5 1 |Runner EPdP 01-10 105 Steel S355 JOWP
6 1 | Runner stopper EPdP 01-10 106 Steel S355 JOWP
7 2 | Post bracket EPdP 01-10 107 Steel S355 JOWP
8 1 | Front protection EPdP 01-10 108 Laminated wood GL24H
9 1 | Lateral protection EPdP 01-10 109 Laminated wood GL24H
10 4 | Bolts TBE In M16x140
11 | 4 |Flat washer M16
12 4 |Hex Nut M16
13 | 10 |Flat washer M12
14 | 10 |Bolts TE M12x30
15 6 |Bolts TE M10x25
16 6 |Hex Nut M10
17 Flat washer M10
18 | 14 | Wood screw 6x40
19 1 |Basement EPdP 01-10 119 Concrete

Object:  Energy absorbing terminal P1 class - P1-01 "Beaver"
Tested for P1 Class in compliance with UNI ENV 1317-4: 2003
Exploded view

Proprieta di Margaritelli Ferroviaria SpA - Via Adriatica 109 - 06135 Ponte San Giovanni - Perugia






